googogg

Ooon

ougodooooboougogd
Joooouoooot

goon

g
goono
g

oo oo ooo

goooogo
06T2031G
ug oo

20100 30 170



gd

1 od 1
1.1 DO0O00000 .. s 1
1.2 000000 ... e 1

2 oooooooooooooon 2
21 000000 ... e 2
22 0000000 .. e 2
23 0000 ... e 2
24 000000000 ... e e 2
25 000000000 ... e 4

3 ooooogo 5
3.1 O00 ..o e 5
3.2 000000 .. e 5
3.3 00000001 ... e 6
34 OO0 1 oo 6
3.5 00000002 ... e e 6
3.6 OO0 2 .. 8
3.7 00000000D00000000000 ..o 0. 8

4 ooo 9

od 9

oooo 9

O0OA DOOOOO 11
Al DOO0O0O0O0OO0O0OO0OO0OOOO0OOO0OO0OOO0O0000 ... 11



1 OO0
11 00000000

go,gobooogoboboooobbooobobbooobDboooobbooobbo
go.goo,ooobobobooooobo.boboboobooboboboobooboboo
gooooobbooooobooboboooooobobobooooobbb.bboooob,obbo
goobooooooooooooooobobobobobobobobobo.boboob
goooboobogooboooboboooobo,obobobobooboboboboobOobooboo
goooooboboooooboobobooo. ooobbboooobbb,bbbooooobobo
gobo. obgooooboobobooobobobooboobooooboobo,obooo
oooooooo0oo00. Jooooo0opooooooooooDoO0. ooo0oo0o0o,Yang
and Kiefler[1] 00000 500000000000000. 00 500000000000
ggooobboooobobobooooooobo. booooobbobooooobb,obbon
0000000000000 000000DO0O00D 2000000000000 0O000
(3]000,000000000000000O00O00DO0O0LO0ODOOO0DOODOOODOODOO
000000000 4o00000000. 00000,00000D000 10000000
goooboobgoooboobootoob,0ooboboobooobobooooboboobo
ggooboboooobboooboboooobbooo.oobboooobbooobbo
gog.

12 000000

oooooO,0000000000. 200000000000000000000000
0o0. 300000o000o0o00oo0o0o0o00o,oo0,0b0o000000. 4000000000
0. oo0,0oboboooooocoboooooboocobooooobooobooooboboonboon
gooo.



2 0JO00DOOooboobooooo
21 ODOOOODO

goooo,Jb0bobooboo0oboboboooobo.bobobooboboobOobDoobooo
gooooo. oboooobo s bobob.ooooboboooboooboobo.oo,
gogoooobooboag.

22 O00OO0OODOO

0000 [400,00000 50000 G(s;)000000000.000000 (1)0

goooo.
si—Gls))  (i>0) (1)

00000000 ;0000 G(s;) 00D0D0O0OD. U0 ;000000 G(s;) DDOO
gobobooboooooboobobobooooboooobbob s 0oo0oooboboobooob. o
go,0000000000004a.

23 0OO0ODO

gogooboo,jggobboooobboooobboooopboooobbooooboboD
goooooobooo. oboobooboboboooobo,0booboooobOooboo
ggoboo.oobooboboooboobbobobooboboobbon.

24 DOO0OODODOO

000000000000000,0000000000000000000000000
000000000000000000.000000000000000000000 20
0000000000, 000000000000,00100000000000000.
0020000000000000000000. 000,,00000000000000
000000000000000000000000000000000000000000
0D0. 000000000 (1J00,0000000000000000000 % |G(s;)|0

2
00. Yang and Kieffer[1]0 50000000000000000.00000000DOOO
go.

[001)00000000000000000000000 ;,000.00000000



000 s,0000,0000 s,—G(s;)00000.000,5—G(s;)0000D0.

Sp — 8151

S1 — Sol

so — 010
4

So — 8151

s1 —0101

[DO0D2s00000000000 20000000 O00O. 0000,s—a;3Bazfas
(a1,00,03 000 0000000)0000. sO0O0D0 000000 SO000000O.0O
000 ¢—pO0Oooon.

S0 —>S1018101

s1— 11
\
S0 — 81525152
s1— 11
so — 01

D003 s0O s 000000000 2000000 000.0000,s—a;fas,
s'—a3fa, 00005, 0000 000000 000000, ODOOO s"—4000
go.

S0 4>81082

s1 — 10

S9 — 0810
I

S0 — 8352

S1 — 10

S9 — 083

s3 — 510

[004)s000000000 2000000 40 d0000000000O0O0O. 00O



0,s—a18a2,s—B0000. s0000 40 ¢ 000000.

sg — 820151
S1 — 520
S9 — 11
Sg — S1ls1
S1 — 520

So — 11

D005 00000000,000000000000000000 s, 000. 000
0000000 ¢ 000 sO000000.0000,/00000.00,000000000
goooa.

Sg — 1818954
00

1510
10

5381

S1
52
S3

S4

<=1 1 11

sg —1s18959
s1— 00
s9 — 1510
s3 — 10

4

So 4%1818282
S1 — 00

S9 — 1810

gob0s000000000DO00DOO0,000D00DbO0DbDObOOUODbOO0.00bO,0b0 1O
05000000000000000000DODOO0.00D00000O ,irreducibledd 00O
00. irreducible 000 0000000000000 OO0OODOD [1JoDODO0OODOOO.

25 ODOOOODOODOO

ooooooooo,00ooooooooboobo0o0o0o2000.100000000000
ooo0.00o0o000co0o00oooooooOoocooooooooooobcboo. 001000
gopbooobooooo.ooo,0b0bo00b 10000000 sp0booooooooon

4



00,00000000000000000000000,, irreducible0000000000
001000000000000000000CCOO00O000000.0000O00O0DOO0
oo,j0000000000000o0O0O00O00O0000ooooooO0,0000000o0a0
oobooo.ooooo,0o0oo00oooocoooboooooao.

3 00O00Ooo
31 00O

0000000000000 00O0DO0DO0D0ODO0DDO0ODO0OOO 9UOD. ODDO00OOo
O0000000000000 1000000,irreducible 000000000000 0O0OO
0. 0000000000,000 2-3—4—1—-500000000. 00,000000A0
ooboooobooooooog.

1. 000 20 sp00000.

2.000380 SODDDDDDDDDDDD.(DDDDDDDDDDDDDDDDDDD
000.000000000oDoooooon.

3. 0001000.

4. 000 5000.

5, 0000000 123400000000 100000000000 ,irreducible 00
goooooooooooo.

6. 0002000000000 OO.

7.0003000000.

8. 00 3,4,6,70 irreducible 0000 D0O0OOO0OOOO.

000o000oooO0,000300004000000000000O0000OD 40000
gog.

32 OOO0OODO

00 1,2,34(0000,000 23,15 00000000 100000 s,00000000
0,00200000 s,000000000000000000000000000000
000000. 00,00 1040000000000 100000000000000000
0000000000000000. 0000,00000000000000000000
oooooog.



33 bDO0O0o0ooog1l

coooooooooooO0oOooObo 200000000000000DOC,00000A0,
gobooobo.oooooooooboooo.bogobobo 100 2000.

34 0O0O1

0100 20000000,00D00000DO0OCOODOOOODOOOO,D0D0D0O
gogoobooobooobooobooobboobboo. booobbooobooobo
gooooooboooobooboboooboboboobo. obooboo,0oobOooboo
goooobboooooboobboooooooboo. bo,boooobbboooobobobo
goobooooooooooooooobobob. boboboboobooboooooooo
g, gogbobboooobbooooboooobbooobbbooobbooobboo
goo.

01 Oogoboooboo

goooo oo o0 O go0ooo oooooo DDDD[S]

Ooo0o0oao

[Byte]

bib 111261 4619 26634 38928.968
book1l 768771 O O ]
book2 610856 0 0 ]
geo 102400 4722 45919 | 119319.640
news 377109 O O 0
objl 21504 1299 8288 1145.656
obj2 246814 0 0 o
paperl 53161 2947 15853 9676.671
paper2 82199 3945 23278 24432.031
paper3 46526 2682 15387 7142.343
paper4 13286 1016 5432 359.546
paperb 11954 961 5040 287.687
paper6 38105 2359 12299 4606.265
pic 513216 O O 0
progc 39611 2338 12221 4522.343
progl 71646 2988 14792 9317.765
progp 49379 2027 10005 3038.015
trans 93695 3239 16106 16355.234

35 DOODooong 2

00100,000000000000DO0DO0DO00O000DbO0ObDOobOOobOOooObOOoDbOon
goooooob. obooboobooobobbobooboo,bo0oboooobOooboo
00o0o0o00,00000000000000. 0DDO0O00O00DDO0OD (2)0D00DDOO.
oooooo3ooono.



02 0000000000

goooo o 0O o ooooo oooooo oooo [s]
0oo0oo0oao
[Byte]
bib 111261 4619 26634 81534.265
book1l 768771 0 0 0
book2 610856 ] O O
geo 102400 4722 45919 178148.421
news 377109 O 0 0
objl 21504 1299 8288 2039.359
obj2 246814 0 0 0
paperl 53161 2947 15853 19847.359
paper2 82199 3945 23278 47040.703
paper3 46526 2682 15387 14432.890
paper4 13286 1016 5432 713.875
paperb 11954 961 5040 577.531
paper6 38105 2359 12299 9323.468
pic 513216 0 0 0
progc 39611 2338 12221 8816.953
progl 71646 2988 14792 19428.234
progp 49379 2027 10005 6217.078
trans 93695 3239 16106 30290.656
03 0o0O0OO
goooo o o O ooooao goooo goooo
oooao goooo Oooooo D[D]
[Byte] O oooo
bib 111261 6852 28868 23.7
book1l 768771 0 O O
book2 610856 O 0 O
geo 102400 4848 46046 10.5
news 377109 0 O 0
objl 21504 2107 9097 23.2
obj2 246814 8] O O
paperl 53161 4468 17375 25.7
paper2 82199 5127 24461 21.0
paper3 46526 3631 16337 22.2
paper4 13286 1451 5868 24.7
paperb 11954 1422 5502 25.8
paper6 38105 3654 13595 26.9
pic 513216 ] 0 u]
progc 39611 3756 13640 27.5
progl 71646 5718 17523 32.6
progp 49379 4287 12266 34.5
trans 93695 8668 21536 40.2
gooooooogoo
googogg = x 100

36 0O0O2

gobooocoooocooood

O3000000,00000000000000000300000000000O0O0. O
oo,00060070000000000000000O000000O00O0. 00,0000
goooooooooooooooooooooooo,boooboooobooooboboooooon

7



gooobooooooobO. ooboboob,0o000b0booboooo0oobooboooOoon
gooooboo. ooo,0ocoboooocobooboboooobooobooocobooboooOoon
gooo.oooobooooboooooooooooboobo.ocoboooooooooooboaon,
goboooooooooooobooooo.

37 D0O0O0OO0ODOODOOODOODOODbOoOoboOo

0000000000000 00000000D00D0O0O0O00. 04000 210000
oobooobooooooooooboa.

04 00O0O0O0O0ODOO [2loOoDOO

ooooo o 0 O goooo oooooo gooo

oooao

[Byte]

bib 111261 5199 28180 18900
book1l 768771 a O O
book2 610856 O u] o
geo 102400 6499 52868 62820
news 377109 0 0 794160
objl 21504 1241 9569 180
obj2 246814 10469 65761 153960
paperl 53161 3137 16707 3300
paper2 82199 4741 24883 15000
paper3 46526 3053 16260 3120
paper4 13286 1002 5579 60
paperb 11954 941 5196 60
paper6 38105 2342 12633 1200
pic 513216 7486 44844 215820
progc 39611 2262 12438 1200
progl 71646 2789 14978 2820
progp 49379 1907 10598 780
trans 93695 3088 16985 3180

0100400000000,0000000000000000O0DOO0C0COOOOOO
gbooooooboo11oo0oboo0ooboooboOob0. boo,bob0o0ob0b0oDbOoD 100
40000000000CO0O0O0. OOO,000000000C0C0O00O0O0GC0OO0OOOC
gboooobooooooobooo. boboooo,0o0oboooobooobooooon
o0000000000,1000000000C00000O0C0O0. OOO,0000000
oooooooooooooOooooooooooOooooo,0o0o0o0000000 100
00000 irreducible 0000000000000 O0O0OOOOO0OOOOOOODOOOOO
goo.

4 000

goboooobooooboobobbooboboo,ooboboooboboooboooo.
gooobooooobbooobooboooobbooobbbooobb,bboooobobo

8



oo0oooooooooo0O1oo000o0oo0OoOO0o0oO00o0oOoooOooo0. oooo,000o0:0
000000 1000000000000000.000 20 s00000,000 30 s
oooooooooo,0o0o010o00,000s50000,00000 1000000000
ooooooooooooooO. oobocoooooboOooooobo 200000000000,
000 3000000,000 irreducible0 0000000000 1,5,2300000000
goooo. ooo,oo00ooboocooobobooooOo0obobooocobOoOooooOoOoobooo. o
ob,000000000o000o0o0oooooooooooooooooooooooOon
0. booooooobooboooobo,ocoo0obobcobo0ooo0ooOoboooogon
gbooooo. oo,coboooobooooobooobobooobooobooocobooboooOon
goooobooooooobooo. bob,0000b0b0O0obOOoo0ooO0oboOobooogo
0000000000000 0,0000000000 10000000 irreducible000O
goboooooooooboooobooooooooobooooDboo.

coodooobooobo,0o0b0o0ooooo0ooobob0oco. obobo0b0ob0o0boo
goboooooooooboooobooooooooooooboooboooooooOooon
goo.

gd

coboobOooobOoOo,000b000000O000DOO0O0O0O0O00O0O0O0O0O0O0
gooo.

goon

[1] En-hui Yang, John C. Kieffer, “ Efficient Universal Lossless Data Compression Al-
gorithms Based on a Greedy Sequential Grammar Transform -Part One: Without
Context Models,” IEEE Transactions on Information Theory, vol.46, no.3, pp.755—
777, 2000.

2] D000, 00D0O0O0O0OOOOODODOUOOODODOOODOOOOOOOOO” , 00000
000000 ,2008.

(3] D000, 00D0O0O0ODO0ODOOOOD0ODUOOLOODOUOODOOO” , 0000000000
0 ,2000.

4 ODOOO0,00000,0000, ODODOODOODOOOOOODODOOOOO,) ODOO
00000 ,pp.1-7,2004.

[5) D0D0D0,00000,000, 2005.

[() 0000,000000 cO00OO0OODOOO20,00000000000000DO



0 0O,2008.
[7] Bw.OooOoOo,DM.O0O00OO,0000000000 20,00000000,2005.
[8] ftp://ftp.cpsc.ucalgary.ca/pub/projects/text.compression.corpus

10



OO0A O00O00OO0

Al OO0O0OOO0ODOOOODOOOODOOOOObOOO

#include <stdio.h>
#include <stdlib.h>

/* #include <string.h> */
#include <time.h>

enum checkType { VALID, PREFIX, VOID };

typedef struct prod_rule {
int *string;
int *represent;
int counter;
enum checkType check;
} prod_rule;

prod_rule *grammar;
int max_rules;

int input_length;

int reduce_grammar_call;
int reduce_grammar_noapply;

/ /

int
stringemp(int *stril, int *str2)

int i;

for (i = 0; stri[i] == str2[i] && stri[i] != 256 && str2[i] !'= 256; i++){

H

}
return(stri[i] - str2[il);
}
int
stringlen(int *string)
{
int num;
if (string == NULL){
printf("%d\n", __LINE__);
exit(1);
}
for (num = 0; string[num] != 256; num++){ /* rule OOO0O0O0OO0O */
¥
return(num) ;
}
/* 0000000000000 00000 26000000 =/
int
rulelen(prod_rule *p_rule)
{

int num;

if (p_rule == NULL){
printf ("%d\n"
exit(1);

LINE_D);

PR—
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num = stringlen(p_rule->string);
return(num) ;

}
/*» 000000o0oo0o */
void
printrule(prod_rule *p_rule)
{
int *s = p_rule->string;
do {
if (*s < 256){
if (0 2 <= xs && *s <= *77){
printf(" %c", (char)*s);
} else {
printf (" %02x", (char)*s);
}
} else {
printf (" %dlkc", *s - 256, ’*’);
}
} while (xs++ != 256);
if (p_rule->represent == NULL){
printf (" NULL");
} else {
printf(" \"");
for (s = p_rule->represent; *s < 256; s++){
if (0 2 <= xs && *s <= *77){
printf ("%c", (char)*s);
} else {
printf ("0x%02x ", (char)*s);
¥
}
Prlntf ( Il\" l|) ;
}
printf("\n");
return;
}
/* 000000000 */
void
printgrammar ()
{
int i;
for (i = 0; i < max_rules; i++){
if (grammar([i].string !'= NULL){
printf ("%d%c -> ", i, ’*’);
printrule(grammar + i);
}
¥
return;
}
/

/+* 100000000000000000000 */
int

reduct_rule_1_check()

{

int i, j, single;

for (i = 0; i < max_rules; i++){
grammar [i] . counter = 0;

}

for (i = 0; i < max_rules; i++){
if (grammar[i].string != NULL){
for (j = 0; grammar[i].string[j]l != 256 ; j++){

12



if (grammar([i].string[j] >= 257){
grammar [grammar [i] .string[j] - 256].counter++;

}
}
}
}
single = 0;
for (i = 0; i < max_rules; i++){
if (grammar[i].counter == 1){
single++;
}
¥
return(single); /* 10000000000000000 =/
}
/¥ 1000000000000000000O0 %/
int
reduct_rule_1()
{
int i, j;
int rep = 0;
for (i = 0; i < max_rules; i++){
if (grammar[i].string != NULL){
for (j = 0; grammar([i].string[j] != 256; j++){
if (grammar[il.string[j] >= 257 && grammar[grammar[i].string[j] - 256].counter == 1){
int rule_from = grammar[i].string[j] - 256;
int newstrlen = rulelen(grammar + i) + rulelen(grammar + rule_from) - 1;
int *newstr = (int *)calloc(newstrlen + 1, sizeof(int));
int k_new, k_old;
for (k_new = 0, k_old = 0; k_new < newstrlen; k_old++){
if (grammar[i].stringl[k_old] == rule_from + 256){
int k_from;
for (k_from = 0; grammar[rule_from].string[k_from] != 256; k_from++){
newstr [k_new++] = grammar[rule_from].string[k_from];
}
} else {
newstr [k_new++] = grammar[i].stringl[k_old];
}
i
newstr[newstrlen] = 256;
free(grammar [i] .string);
grammar [i] .string = newstr;
free(grammar [rule_from] .string);
grammar [rule_from] .string = NULL;
==
rep++;
}
¥
}
}
return(rep); /* O0OOO0O =/
¥

/* 0000000000000000 =/
int
reduct_rule_2_check(prod_rule *p_rule, int **x2, int **y2)
{
int lenl = 0, len2 = 0;
int i, i_mem, i_len;
int dist, dist_mem;
int *line = p_rule->string;
int match = 1;

i_len = rulelen(p_rule);
for(dist = i_len / 2; dist > 1; dist—-){

for(i = 0; i < i_len - dist; i++){

13



if(line[i] == line[dist + il){

lenl++;

while (lenl > match){
match = lenil; /+* 0000000000 */
i_mem = i; /+ 0000000000 */
dist_mem = dist; /* 20000000000 =*/

¥

if(lenl > dist)
break;

} else {

if(lenl < dist &% lenl > 1){
/*print_len(&line[i - lenl], lenl);*/

}
lenl = 0;

}

if (lenl == dist){
break;

} else if(i == i_len - dist - 1 && lenil > 1){
/*print_len(&line[i + 1 - leni], leni);*/

}
¥
if(i_len %2 == 0 && dist == i_len / 2){ /* 000000000000 dist(000) OO0
0 =/
} else {
for(i = 0; i < dist; i++){
if (line[i] == line[i_len - dist + i]){
len2++;
while (len2 > match){
match = len2;
i_mem = i;
dist_mem = i_len - dist;
}
if(len2 > dist)
len2 = dist;
} else {
if (len2 < dist && len2 > 1){
/* print_len(&line[i - len2], len2);*/
}
len2 = 0;
}
if(len2 == dist){
break;
} else if(i == dist - 1 && len2 > 1){
/*print_len(&line[i + 1 - len2], len2);*/
¥
}
}
if (match == dist){
break;
}
lenl = len2 = 0;
}
if (match < 2){
return (-1);
}
*x2 = &line[i_mem + 1 - match];
*y2 = &line[i_mem + 1 - match + dist_mem];
return (match);
}

/* 000000000 2000 %/
void
reduct_rule_?(prod_rule *p_rule, prod_rule *new_rule, int *x2, int *y2, int n)
{
int k, 1;
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int *s0, *sl1;
int i_len;

i_len = rulelen(p_rule);
sO = (int *) calloc(i_len + 3 - 2 * n, sizeof(int));
sl = (int *) calloc(n + 1, sizeof(int));
if(sO0 == NULL || s1 == NULL){
printf ("0 00000000000 \n");
exit(-1);
}

for(1 =k = 0; 1 < i_len + 1; 1++, k++){
if (p_rule->string + 1 == x2 || p_rule->string + 1 == y2){
sO[k] = (new_rule - grammar) + 256;
1l +=n-1;
} else {
sO[k] = *(p_rule->string + 1);
}
}

for(1 = 0; 1 < n; 1+){
s1[1] = x2[1];

}

s1[n] = 256;

free(p_rule->string);

p_rule->string = s0;
new_rule->string = si;
return;

}

/* 000000000 3000000000 (Coooo) */
int
reduct_rule_3_check(prod_rule *p_rulel, prod_rule *p_rule2, int **x3, int *xy3)
{
int pt, pp, pl;
int i_len, j_len, samelen = 0;
int max_pt, max_pp;
int maxl = 1;

i_len = rulelen(p_rulel);
j_len = rulelen(p_rule2);

if(i_len >= j_len){ /* array[i] 0000000000000 %/
if (j_len > 2){
for(pl = 2; pl < j_len; pl++){
for(pt = 0, pp = j_len - pl; pp < j_len; pt++, pp++){
if (x(p_rulel->string + pt) == *(p_rule2->string + pp)){
samelen++;
if (maxl < samelen){
maxl = samelen;
max_pt = pt;
max_pp = Pp;
}
if(pp == j_len - 1){
samelen = 0;
}
} else {
samelen = 0;

}

}
for(pl = 0; pl < i_len - j_len + 1; pl++){

for(pt = pl, pp = 0; pt < i_len && pp < j_len; pt++, pp++){
if (*(p_rulel->string + pt) == *(p_rule2->string + pp)){

15



samelen++;
if (maxl < samelen){
maxl = samelen;
max_pt = pt;
max_pp = PP;
¥
if(pp == j_len - 1){
samelen = 0;
¥
} else {
samelen = 0;
}
}
}
if (j_len > 2){
for(pl = 0; pl < j_len - 2; pl++){
for(pp = 0, pt = i_len - j_len + 1 + pl; pt < i_len && pp < j_len - 1 - pl; pt++, pp++){
if (*(p_rulel->string + pt) == *(p_rule2->string + pp)){
samelen++;
if (maxl < samelen){
maxl = samelen;
max_pt = pt;
max_pp = Pp;
}
if(pp == j_len - 2 - pl){
samelen = 0;

}

} else {
samelen = 0;

¥

}
}
}
} else { /* array[j1 0000000 */

if(i_len > 2){
for(pl = 2; pl < i_len; pl++){
for(pp = 0, pt = i_len - pl; pt < i_len; pt++, pp++){
if (*(p_rulel->string + pt) == *(p_rule2->string + pp)){
samelen++;
if (maxl < samelen){
maxl = samelen;
max_pt = pt;
max_pp = Pp;
}
if(pt == i_len - 1){
samelen = 0;
}
} else {
samelen = 0;

}

}

for(pl = 0; pl < j_len - i_len + 1; pl++){
for(pp = pl, pt = 0; pt < i_len & pp < j_len; pt++, pp++){
if (*(p_rulel->string + pt) == *(p_rule2->string + pp)){
samelen++;
if (maxl < samelen){
maxl = samelen;
max_pt = pt;
max_pp = PP;
}
if(pt == i_len - 1){
samelen = 0;
¥
} else {
samelen = 0;

}

16



}
}
if(i_len > 2){
for(pl = 0; pl < i_len - 2; pl++){
for(pt = 0, pp = j_len - i_len + 1 + pl; pt < i_len - 1 - pl; pt++, pp++){
if (x(p_rulel->string + pt) == *(p_rule2->string + pp)){
samelen++;
if (maxl < samelen){
maxl = samelen;
max_pt = pt;
max_pp = pp;
}
if(pt == i_len - 2 - pl){
samelen = 0;
}
} else {
samelen = 0;

}

}

if (maxl > 1){
*x3 = p_rulel->string + max_pt - maxl + 1;
*y3 = p_rule2->string + max_pp - maxl + 1;
return(maxl) ;

} else {
return(-1);

}

}

/* 000000000 3000 */
void
reduct_rule_3(prod_rule *p_rulel, prod_rule *p_rule2, prod_rule *new_rule, int *x3, int *y3, int n)
{
int i_len, j_len;
int *u0, *ul, *u2;
int rl, rk;

i_len = rulelen(p_rulel);
j_len = rulelen(p_rule2);

u0 = (int *) calloc(i_len - n + 2, sizeof(int));
ul = (int *) calloc(j_len - n + 2, sizeof(int));
u2 = (int *) calloc(n + 1, sizeof(int));
if(u0 == NULL || ul == NULL || u2 == NULL){
printf ("0 0000000000 \n";
exit(-1);
¥

if(i_len >= j_len){
/* array[il 000000 */
if(j_len >= n){
for(rl = rk = 0; rl < i_len + 1; rl++, rk++){
if (p_rulel->string + rl == x3){
if(j_len == n){
uO[rk] = (p_rule2 - grammar) + 256;

} else {
uO[rk] = (new_rule - grammar) + 256;
}
rl +=n - 1;
} else {

u0[rk] = *(p_rulel->string + rl);
}
}
}
/* array[j]l, arraylk]l] 000000 */
if(j_len > n){
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for(rl = vk = 0; rl < j_len + 1; rl++, rk++){
if (p_rule2->string + rl == y3){

ul[rk] = (new_rule - grammar) + 256;
rl +=n - 1;
} else {

ul[rk] = *(p_rule2->string + rl);
}
}
for(rl = 0; rl < n; rl++){
u2[rl] = y3[rll;
}
u2[n] = 256;

free(p_rule2->string) ;
p_rule2->string = ul;
new_rule->string = u2;
} else if(j_len == n){
free(u2);
}
free(p_rulel->string);
p_rulel->string = u0;

} else {

}

/* array[jl 000000 %/
if(i_len >= n){
for(rl = vk = 0; rl < j_len + 1; rl++, rk++){
if (p_rule2->string + rl == y3){
if(i_len == n){
ullrk] = (p_rulel - grammar) + 256;

} else {
ull[rk] = (new_rule - grammar) + 256;
¥
rl +=n - 1;
} else {

ull[rk] = *(p_rule2->string + rl);
}
}
}
/* arraylil, array[k]l] 000000 */
if(i_len > n){
for(rl = vk = 0; rl < i_len + 1; rl++, rk++){
if (p_rulel->string + rl == x3){

uO[rk] = (new_rule - grammar) + 256;
rl +=n - 1;
} else {

u0[rk] = *(p_rulel->string + rl);
}
}
for(rl = 0; rl < n; rl++){
u2[rl] = x3[rll;
¥
u2[n] = 256;

free(p_rulel->string);
p_rulel->string = u0;
new_rule->string = u2;
} else if(i_len == n){
free(u2);
¥
free(p_rule2->string);
p_rule2->string = ul;

return;

}

/* KMPODOOO0O00000 =/

int

reduct_rule_4_check(prod_rule *p_rulel, prod_rule *p_rule2)

{
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int pt = 1, pp = 0;
int i_len, j_len;
int *skip;

i_len = rulelen(p_rulel);
j_len = rulelen(p_rule2);

if(j_len == 0){
printf("0000\n");
exit(-1);

}

skip = (int *) calloc(j_len + 1, sizeof(int));
if (skip == NULL){
printf ("0 0000000000 \n";
exit(-1);
¥

/+ 0000 */
skip[0] = 0;
skip[pt] = 0;
while (*(p_rule2->string + pt) != 256){
if (*(p_rule2->string + pt) == *(p_rule2->string + pp)){
skip[++pt] = ++pp;
} else if (pp == 0){
skip[++pt] = 0;
} else {
pp = skip[ppl;

}

for(pt = pp = 0; pt < i_len && pp < j_len; ){
if (*(p_rulel->string + pt) == *(p_rule2->string + pp)){

pt++; pptt;
} else if(pp == 0){
pt++;
} else {
pp = skiplppl; /¥ 0000000 =/
}
free(skip);

if(pp == j_len){
return (pt - pp);
}

return (-1);

/*» 000000000 4000 =/
void
reduct_rule_4(prod_rule *p_rulel, prod_rule *p_rule2, int m)
{
int k, 1, i_len, j_len;
int *t0;

i_len = rulelen(p_rulel);
j_len = rulelen(p_rule2);
t0 = (int *) calloc(i_len - j_len + 2, sizeof(int));
if (t0 == NULL){
printf("00000000000\n";
exit(-1);
}

for(1 =k =0; 1 < i_len + 1; 1++, k++){
if (1 == m){
t0[k] = (p_rule2 - grammar) + 256;
1 += j_len - 1;
} else {
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t0[k] = p_rulel->string[l];
}
}
free(p_rulel->string);
p_rulel->string = t0;

return;
}
int
rulelen_rec(prod_rule *p_rule)
{
int i;
int len = 0;
for (i = 0; p_rule->string[i] != 256; i++){
if (p_rule->string[i] < 256){
len++;
} else {
len += rulelen_rec(grammar + (p_rule->string[i] - 256));
}
}
return(len);
}
int *
set_represent (prod_rule *p_rule, int *dest)
{
int i;
for (i = 0; p_rule->string[i] != 256; i++){
if (p_rule->string[i] < 256){
*dest = p_rule->stringl[il;
dest++;
} else {
dest = set_represent(grammar + (p_rule->string[i] - 256), dest);
}
}
return(dest);
¥
int
make_represent (prod_rule *p_rule)
{
int len;
int *term;
len = rulelen_rec(p_rule);
p_rule->represent = (int *)calloc(len + 1, sizeof(int));
if (p_rule->represent == NULL){
printf("error on %d\n", __LINE__);
exit(1);
}
term = set_represent(p_rule, p_rule->represent);
*term = 256;
return(len);
}
void
reduct_rule_5(prod_rule *replace, prod_rule *with)
{
int i, j;

int n_rep = replace - grammar + 256;
int n_with = with - grammar + 256;

for (i = 0; i < max_rules; i++){
if (grammar[i].string != NULL){
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/

}

for (j = 0; grammar[i].string[j] != 256 ; j++){
if (grammar([i].string[j] == n_rep){
grammar [i] .string[j] = n_with;

}
}

free(replace->string) ;
replace->string = NULL;
free(replace->represent) ;
replace->represent = NULL;
replace->counter = 0;
return;

#define STACK_MAX 100000
int stack_idx;

int stack[STACK_MAX];
FILE *input_fp;

/¥ 0000000000000 */

int
getsymbol ()
{
int symbol;
if (stack_idx > 0){
stack_idx--;
symbol = stack[stack_idx];
} else {
symbol = fgetc(input_£p);
input_length++;
}
return(symbol) ;
}

/* 0000000000 */

void

ungetsymbol(int symbol)

if (stack_idx >= STACK_MAX){

}

printf("overflow at %d\n"
exit(1);

LINE__);

ERp—

stack[stack_idx] = symbol;
stack_idx++;
return;

#define BUFFER_MAX 100000

int

extend_grammar ()

{

int
int
int
int
int
int
int
int

for

buffer [BUFFER_MAX] ;

count_valid;

last_prefix = -1;

last_valid = -1;

append;

n;

i;

len_sO;

(i =1; i < max_rules; i++){

if (grammar[i].string != NULL){
grammar [i] .check = VALID;
/* rules[i] .represent 000000 DODOODODO */
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if (grammar[i].represent == NULL){

printf ("programm error on %d\n", __LINE__);
exit(1);
}
}
}
n = 0;
do {
if (n >= BUFFER_MAX){
printf("overflow at %d (n=%d)\n", __LINE__, n);
exit(1);
}
buffer[n] = getsymbol();
count_valid = 0;
for (i = 1; i < max_rules; i++){
if (grammar[i].string != NULL && grammar[i].check == VALID){
if (grammar[i].represent[n] == 256){
grammar [i] .check = PREFIX;
last_prefix = i;
} else if (grammar[i].represent[n] == buffer[n]){
count_valid++;
last_valid = i;
} else {
grammar [i] .check = VOID;
}
}
}
n++;
} while (count_valid > 1 || (count_valid == 1 && stringlen(grammar[last_valid].represent) > n));

if (count_valid == 1){
append = last_valid + 256;
} else {
if (last_prefix < 0){
append = buffer[0];
while (--n > 0){
ungetsymbol (buffer[n]);
}
} else {
int len;
append = last_prefix + 256;
len = stringlen(grammar[last_prefix].represent);
while (--n >= len){
ungetsymbol (buffer[n]);
}

}

if (append != EOF){
/% append 0 S0 0OO0DOO */
len_sO = rulelen(grammar) + 2;
grammar->string = realloc(grammar->string, len_sO * sizeof(int));
if (grammar->string == NULL){
printf("out of memory on %d\n", __LINE__);
exit(1);
}
grammar->string[len_sO - 2] = append;
grammar->string[len_sO - 1] = 256;
}

return(append) ;

prod_rule *
blank_rule()
{

int rule_idx;
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for (rule_idx = 1; rule_idx < max_rules; rule_idx++){

if (grammar[rule_idx].string == NULL){
return(grammar + rule_idx);

}

}

max_rules++;

grammar = (prod_rule *)realloc(grammar, sizeof (prod_rule) * max_rules);

if (grammar == NULL){
printf("out of memory on %d\n", __LINE__);
exit(1);

}

grammar [max_rules - 1].string = NULL;

grammar [max_rules - 1].represent = NULL;

grammar [max_rules - 1].counter = 0;

return(grammar + (max_rules - 1));

¥

int

reduce_grammar ()

{
int len, num;
int *patl;
int *pat2;

int rule_idx, rule_idx2;
prod_rule *new_rule;
int apply;

reduce_grammar_call++;
apply = 0;

len = reduct_rule_2_check(grammar + O, &patl, &pat2);
if (len >= 2){
new_rule = blank_rule();
reduct_rule_2(grammar + O, new_rule, patl, pat2, len);
make_represent (new_rule) ;
apply = 1;
}

rule_idx = 1;
while (rule_idx < max_rules){
if (grammar[rule_idx].string == NULL){
rule_idx++;
continue;
}
len = reduct_rule_s_check(grammar + 0, grammar + rule_idx, &patl, &pat2);
if (len >= 2){

if (rulelen(grammar + rule_idx) == len){
reduct_rule_4(grammar + O, grammar + rule_idx, patl - grammar[0].string);
} else {

new_rule = blank_rule();
reduct_rule_3(grammar + O, grammar + rule_idx, new_rule, patl, pat2, len);
make_represent (new_rule);

¥

rule_idx = 1;

apply = 1;

} else {
rule_idx++;

}

num = reduct_rule_1_check();
if (num > 0){
reduct_rule_1();
apply = 1;

for (rule_idx = 1; rule_idx < max_rules - 1; rule_idx++){
if (grammar[rule_idx].string == NULL){
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continue;

}

for (rule_idx2 = rule_idx + 1; rule_idx2 < max_rules; rule_idx2++){
if (grammar[rule_idx2].string == NULL){

continue;

}

if (stringcmp(grammar[rule_idx].represent, grammar[rule_idx2].represent) == 0){
reduct_rule_5(grammar + rule_idx2, grammar + rule_idx);
apply = 1;

}

if (apply == 0){
reduce_grammar_noapply++;

}

while(apply == 1){
apply = 0;
rule_idx = 0;
while (rule_idx < max_rules){
if (grammar([rule_idx].string == NULL){
rule_idx++;
continue;
}
len = reduct_rule_Q_check(grammar + rule_idx, &patl, &pat2);
if (len >= 2){
new_rule = blank_rule();
reduct_rule_2(grammar + rule_idx, new_rule, patl, pat2, len);
make_represent (new_rule) ;
rule_idx = 0;
apply = 1;
} else {
rule_idx++;
¥
}

rule_idx = 0;
while (rule_idx < max_rules - 1){
if (grammar[rule_idx].string == NULL){
rule_idx++;
continue;
}
rule_idx2 = rule_idx + 1;
while (rule_idx2 < max_rules){
if (grammar[rule_idx2].string == NULL){
rule_idx2++;
continue;
}

len = reduct_rule_S_check(grammar + rule_idx, grammar + rule_idx2, &patl, &pat2);

if (len >= 2){
if (rulelen(grammar + rule_idx) == len){
reduct_rule_4(grammar + rule_idx2,
0000000000000000000000000  grammar + rule_idx, pat2 - grammar[rule_idx2].string);
} else if (rulelen(grammar + rule_idx2) == len) {
reduct_rule_4(grammar + rule_idx,
00000000000000000000000D00 grammar + rule_idx2, patl - grammar[rule_idx].string);
} else {
new_rule = blank_rule();
reduct_rule_3(grammar + rule_idx,
goo00000000000000000000000 grammar + rule_idx2, new_rule, patl, pat2, len);
make_represent(new_rule);
¥
rule_idx = 0;
rule_idx2 = 1;
apply = 1;
} else {
rule_idx2++;
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}

}
}

rule_idx++;

num = reduct_rule_1_check();

if (num > 0){
reduct_rule_1(Q);
apply = 1;

for (rule_idx = 1; rule_idx < max_rules - 1; rule_idx++){
if (grammar([rule_idx].string == NULL){
continue;
}
for (rule_idx2 = rule_idx + 1; rule_idx2 < max_rules; rule_idx2++){
if (grammar[rule_idx2].string == NULL){

continue;
}
if (stringcmp(grammar[rule_idx].represent, grammar[rule_idx2].represent) == 0){
reduct_rule_S(grammar + rule_idx2, grammar + rule_idx);
apply = 1;
}
}
}
return(0);

/¥ 000000000000000 =/

int

rule_number ()

{

int sum = 0;
int rule_idx;

for (rule_idx = 0; rule_idx < max_rules; rule_idx++){
if (grammar[rule_idx].string != NULL){
sum += rulelen(grammar + rule_idx);
}
}

return(sum) ;

/x 0ooooog =/

int

grammar_number ()

{

/

int *

int num = 0;
int rule_idx;

for (rule_idx = 0; rule_idx < max_rules; rule_idx++){
if (grammar[rule_idx].string !'= NULL){
num += 1;
}
}

return(num) ;

dupstring(int *string)
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int

int *dup;
int i;

dup = (int *)calloc(stringlen(string) + 1, sizeof(int));
for (i = 0; stringlil != 256; i++){
dup[i] = stringlil;

¥
dup[i] = 256;
return(dup) ;

main(int argc,char **argv)

{

clock_t end;
int sum, num;

input_fp = fopen(argv[il, "rb");

if (input_fp == NULL){
printf("open error on %d\n", __LINE__);
exit(1);

}

input_length = 0;

reduce_grammar_call = 0;
reduce_grammar_noapply = 0;

grammar = (prod_rule *)malloc(sizeof (prod_rule));
if (grammar == NULL){
printf("%d\n", __LINE__);
exit(1);
}
grammar [0] .string = (int *)malloc(sizeof(int));
if (grammar[0].string == NULL){
printf("%d\n", __LINE__);
exit(1);
}
grammar [0] .string[0] = 256;
max_rules = 1;
make_represent (grammar + 0);

while (extend_grammar() '= EOF){
reduce_grammar () ;
}

printgrammar () ;

end = clock();

printf( "O000O0 :%£f[s]\n", (double)end / CLOCKS_PER_SEC) ;

sum = rule_number();

printf( "O0O0O0O0000O :%d\n", sum);

num = grammar_number () ;

printf( "O0000 :%d\n", num);

printf( "OO00O0O0O0O00O :%d\n", reduce_grammar_noapply) ;
printf( "O00DDO :%d\n", reduce_grammar_call);

printf( "O0 :%d\n", input_length);

return(0);
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